## CONTRACT FOR PUBLIC WORK

## COUNTY OF MONTEREY

### STATE OF CALIFORNIA

PROJECT NO. 8622

	THIS AGREEMENT, made in triplicate by and between	n the COUNTY OF
MON	TEREY, a political subdivision of the State of California	, hereinafter called the "County,"
and _	Viking Construction Company, Inc.	, hereinafter called the
"Cont	tractor," WITNESSETH:	

## (1) THE WORK

The Contractor shall do all the work and furnish all the materials, except such as are mentioned in any of the contract documents to be furnished by the County, necessary to construct and complete in a good, workmanlike and substantial manner and to the satisfaction of the County, the following public work:

## CASTROVILLE BICYCLE/PEDESTRIAN PATH AND RAILROAD CROSSING PROJECT NO. 8622 Federal Aid Project No: RSTPLE-5944(111)

in accordance with this agreement and with all of the following additional contract documents which are incorporated into and made a part of this agreement:

- (a) The Standard Specifications, dated May 2010, and the Standard Plans, dated May 2010, including issued revision through October 17, 2014, of the State of California, Department of Transportation.
- (b) A set of plans and cross sections (when applicable) entitled:

## CASTROVILLE BICYCLE/PEDESTRIAN PATH AND RAILROAD CROSSING PROJECT NO. 8622 Federal Aid Project No: RSTPLE-5944(111)

- (c) The Special Provisions for the work
- (d) The Notice to Bidders calling for bids
- (e) The Payment and Performance bonds require
- (f) Certificate of Insurance

- (g) Form FHWA-1273
- (h) The accepted bid/proposal including the following:
  - (1) List of Subcontractors
  - (2) Equal Employment Opportunity Certification
  - (3) Public Contract Code

Section 10285.1 Statement

Section 10162 Questionnaire

Section 10232 Statement

- (4) Non-collusion Declaration
- (5) Debarment and Suspension Certification
- (6) Non-Lobbying Certification For Federal-Aid Contracts
- (7) Disclosure of Lobbying Activities
- (8) Instructions For Completion of SF-LLL, Disclosure of Lobbying Activities
- (9) Statement Concerning Employment Of Undocumented Aliens
- (10) Contractor's Certificate As To Worker's Compensation
- (11) List of Satisfied Public Agencies
- (12) Exhibit 15-G Local Agency Bidder DBE Commitment (Construction Contracts)
- (13) Instructions-Exhibit 15-G Local Agency Bidder DBE Commitment (Construction Contracts)
- (14) Exhibit 15-H DBE Information-Good Faith Efforts
- (15) Bidder's Bond
- (16) Waiver for Payment Adjustment for Price Index Fluctuations

All contract documents are intended to cooperate, so that any work called for in one and not mentioned in another is to be executed the same as if mentioned in all. However, should there be any conflict between the terms of this instrument and the Contractor's bid or proposal, then this instrument shall control.

#### 2. WORKERS' COMPENSATION

In accordance with the provisions of Section 3700 of the Labor Code, the Contractor and every Subcontractor will be required to secure the payment of compensation to his employees.

### 3. CONTRACT PRICE

The County shall pay the Contractor the following prices for the performance of this contract:

CASTROVILLE BICYCLE/PEDESTRIAN PATH AND RAILROAD CROSSING PROJECT NO. 8622 Federal Aid Project No: RSTPLE-5944(111)

# CASTROVILLE BICYCLE/PEDESTRIAN PATH AND RAILROAD CROSSING

PROJECT NO. 8622

Federal Aid Project No: RSTPLE-5944(111)

Item No.	Item Code	<u>P-F</u>	Description	Unit	Quantity	Unit cost	Amount
1	050002A		RAILROAD TRAINING	LS	1	5,000.00	5,000.00
2	070030		LEAD COMPLIANCE PLAN	LS	1	1,500.00	1,500.00
3	080050		PROGRESS SCHEDULE (CRITICAL PATH METHOD)	LS	1	1,500.00	1,500.00
4	090100		TIME-RELATED OVERHEAD	WDAY	280	1,050.00	294,000.00
5	120090		CONSTRUCTION AREA SIGNS	LS	1	5,000.00	5,000.00
6	120100		TRAFFIC CONTROL SYSTEM	LS	1	8,000.00	8,000.00
7	130100		JOB SITE MANAGEMENT	LS	1	50,000.00	50,000.00
8	130300		PREPARE STORM WATER POLLUTION PREVENTION PLAN	LS	1	2,000.00	2,000.00
9	130310		RAIN EVENT ACTION PLAN	EA	10	500.00	5,000.00
10	130330		STORM WATER ANNUAL REPORT	EA	1	2,000.00	2,000.00
11	130620		TEMPORARY DRAINAGE INLET PROTECTION	EA	10	450.00	4,500.00
12	130710		TEMPORARY CONSTRUCTION ENTRANCE	EA	2	6,000.00	12,000.00
13	130900		TEMPORARY CONCRETE WASHOUT	EA	2	3,750.00	7,500.00
14	141102		REMOVE YELLOW PAINTED PAVEMENT MARKING (HAZARDOUS WASTE)	SQFT	80	50.00	4,000.00
15	146001		CONTRACTOR SUPPLIED BIOLOGIST	LS	1	15,000.00	15,000.00
16	150606		REMOVE FENCE (TYPE BW)	LF	310	10.00	3,100.00
17	150608		REMOVE CHAIN LINK FENCE	LF	1,290	10.00	12,900.00
18	150771		REMOVE ASPHALT CONCRETE DIKE	LF	60	17.00	1,020.00

Item No.	Item Code	<u>P-F</u>	Description	Unit	Quantity	Unit cost	Amount
19	150812		REMOVE PIPE	LF	60	150.00	9,000.00
20	150821		REMOVE HEADWALL	EA	1	1,900.00	1,900.00
21	151281		SALVAGE ROADSIDE SIGN	EA	4	20.00	80.00
22	152320		RESET ROADSIDE SIGN	EA	6	120.00	720.00
23	151555A		RECONSTRUCT GATE	EA	2	6,000.00	12,000.00
24	152382A		RECONSTRUCT GATE POST	EA	2	1,250.00	2,500.00
25	152440		ADJUST MANHOLE TO GRADE	EA	1	2,550.00	2,550.00
26	<u>160102</u>		CLEARING AND GRUBBING	LS	1	37,000.00	37,000.00
27	170101		DEVELOP WATER SUPPLY	LS	1	11,000.00	11,000.00
28	190101		ROADWAY EXCAVATION	CY	2,090	75.00	156,750.00
29	192003	F	STRUCTURE EXCAVATION (BRIDGE)	CY	509	100.00	50,900.00
30	193003	F	STRUCTURE BACKFILL (BRIDGE)	CY	292	50.00	14,600.00
31	198012A		BIORETENTION SOIL MEDIA (BSM)	CY	224	125.00	28,000.00
32	205034		DECOMPOSED GRANITE	SQFT	12,220	2.00	24,440.00
33	205036A		WEED CONTROL MAT (FIBER)	SQYD	270	27.00	7,290.00
34	210430		HYDROSEED	SQFT	13,910	0.38	5,285.80
35	260203		CLASS 2 AGGREGATE BASE	CY	690	90.00	62,100.00
36	390132		HOT MIX ASPHALT (TYPE A)	TON	1,140	115.00	131,100.00
37	394050		RUMBLE STRIP	LF	32	50.00	1,600.00
38	394073		PLACE HOT MIX ASPHALT DIKE (TYPE A)	LF	50	25.00	1,250.00
39	490616		84" CAST-IN-DRILLED-HOLE CONCRETE PILING	LF	562	1,500.00	843,000.00

Item No.	Item Code	<u>P-F</u>	Description	Unit	Quantity	Unit cost	Amount
40	495103	Р	FURNISH 16" CAST-IN-STEEL SHELL CONCRETE PILING	LF	3,224	80.00	257,920.00
41	495104		DRIVE 16" CAST-IN-STEEL SHELL CONCRETE PILE	EA	92	2,500.00	230,000.00
42	500001	Р	PRESTRESSING CAST-IN- PLACE CONCRETE	LS	1	88,000.00	88,000.00
43	510051	F	STRUCTURAL CONCRETE, BRIDGE FOOTING	CY	138	750.00	103,500.00
44	510053	F	STRUCTURAL CONCRETE, BRIDGE	CY	1,624	925.00	1,502,200.0
45	510501	F	MINOR CONCRETE	CY	18	875.00	15,750.00
46	510502	F	MINOR CONCRETE (MINOR STRUCTURE)	CY	1	3,050.00	3,050.00
47	518051	Р	PTFE SPHERICAL BEARING	EA	4	5,300.00	21,200.00
48	519092	Р	JOINT SEAL ASSEMBLY (MR 2 1/2")	LF	24	350.00	8,400.00
49	519097	Р	JOINT SEAL ASSEMBLY (MR 5")	LF	12	850.00	10,200.00
50	519099	Р	JOINT SEAL ASSEMBLY (MR 6")	LF	12	850.00	10,200.00
51	519101		JOINT SEAL (TYPE A)	LF	14	80.00	1,120.00
52	520101	P-F	BAR REINFORCING STEEL	LB	50	15.00	750.00
53	520102	P-F	BAR REINFORCING STEEL (BRIDGE)	LB	654,901	0.76	497,724.76
54	520120	P-F	HEADED BAR REINFORCEMENT	EA	68	52.00	3,536.00
55	560248		FURNISH SINGLE SHEET ALUMINUM SIGN (0.063"- UNFRAMED)	SQFT	200	18.00	3,600.00
56	566011		ROADSIDE SIGN - ONE POST	EA	35	280.00	9,800.00
57	641107	Р	18" PLASTIC PIPE (HDPE, TYPE C)	LF	150	156.00	23,400.00
58	650311	Р	18" REINFORCED CONCRETE PIPE (CLASS III)	LF	18	250.00	4,500.00

Item No.	Item Code	<u>P-F</u>	Description	Unit	Quantity	Unit cost	Amount
59	680902	Р	6" PERFORATED PLASTIC PIPE UNDERDRAIN	LF	310	36.00	11,160.00
60	680903	Р	6" NON-PERFORATED PLASTIC PIPE UNDERDRAIN	LF	170	42.00	7,140.00
61	<u>682042</u>		CLASS 2 PERMEABLE MATERIAL	CY	100	450.00	45,000.00
62	705011		18" STEEL FLARED END SECTION	EA	2	250.00	500.00
63	707107A		OVERFLOW DRAIN	EA	2	4,500.00	9,000.00
64	707118A		DRAINAGE INLET (TYPE G1)	EA	1	4,750.00	4,750.00
65	707119A		CONCRETE PIPE INLET (TYPE GCP)	EA	2	4,750.00	9,500.00
66	721028	F	ROCK SLOPE PROTECTION (NO.2, METHOD B)	CY	12	350.00	4,200.00
67	730070		DETECTABLE WARNING SURFACE	SQFT	160	54.00	8,640.00
68	731623		MINOR CONCRETE (CURB RAMP)	CY	3	2,400.00	7,200.00
69	733000		PRE/POST CONSTRUCTION SURVEYS	EA	2	1,000.00	2,000.00
70	750007	<u>P</u>	FRAME AND GRATE	EA	3	250.00	750.00
71	750041	P-F	ISOLATION CASING	LB	3,492	7.00	24,444.00
72	750498	P-F	MISCELLANEOUS METAL (RESTRAINER - CABLE TYPE)	LB	2,735	10.00	27,350.00
73	750501	P-F	MISCELLANEOUS METAL (BRIDGE)	LB	2,030	6.50	13,195.00
74	800002	Р	FENCE (TYPE BW, WOOD POST)	LF	750	15.00	11,250.00
75	800103		TEMPORARY FENCE (TYPE CL-6)	LF	2,790	10.00	27,900.00
76	800360	Р	CHAIN LINK FENCE (TYPE CL-6)	LF	1,220	17.00	20,740.00
77	833033	P-F	CHAIN LINK RAILING TYPE 7 (Mod)	LF	682	160.00	109,120.00

TOTAL BASE BID						6,509	,050.56
84	999990		MOBILIZATION	LS	1	650,000.00	650,000.00
83	860605A		RECTANGULAR RAPID FLASHING BEACON SYSTEM	LS	1	26,000.00	26,000.00
82	860760A		LIGHTING (BRIDGE)	LS	1	58,000.00	58,000.00
81	860402	Р	LIGHTING (CITY STREET)	LS	1	25,000.00	25,000.00
80	840524A		4" THERMOPLASTIC TRAFFIC STRIPE (BROKEN 9-3)	LF	3,870	1.50	5,805.00
79	840519		THERMOPLASTIC CROSSWALK & PAVEMENT MARKINGS	SQFT	830	5.00	4,150.00
78	833040	P-F	BICYCLE RAILING	LF	2,248	340.00	764,320.00
Item No.	Item Code	<u>P-F</u>	Description	Unit	Quantity	Unit cost	Amount

IN WITNESS WHEREOF, the parties hereto have executed this Agreement as of the dates appearing below their respective signatures.

CONTRACTOR:								
Viking Construction Company, Inc. (Name of Company)								
Ву: (	Randy Jento Signature of Chair, President, or Vice-President	By:	Signature of Secretary, Asst. Secretary, CFO,					
Zan	Drinted Name and Title	Bw	Treasurer or Asst. Treasurer*					
	9/21/14	Date:	9(21(16					
COUN	TY OF MONTEREY:							
COUN	TT OF MONTENET.		APPROVE AS TO FISCAL TERMS					
By:		By:						
Name:	Benny J. Young Interim Director of Public Works and	Name:	Gary Giboney					
Title:	Facilities	Title:	Chief Deputy Auditor-Controller					
Dated:_		Date:						
	APPROVE AS TO FORM		APPROVE AS TO INDEMNITY/ INSURANCE LANGUAGE					
By:		By:						
Name:	Mary Grace Perry	Name:	Steven F. Mauck					
Title:	Deputy County Counsel	Title:	Risk Manager					
Date:		Date:						

<sup>\*</sup>INSTRUCTIONS: If CONTRACTOR is a corporation, including limited liability and non-profit corporations, the full legal name of the corporation shall be set forth above together with the signatures of two specified officers. If CONTRACTOR is a partnership, the name of the partnership shall be set forth above together with the signature of a partner who has authority to execute this AGREEMENT on behalf of the partnership. If CONTRACTOR is contracting in an individual capacity, the individual shall set forth the name of the business, if any, and shall personally sign the AGREEMENT.